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EX :L ¢ Tom records the number of vocab words

memorized for his English Final and the amount of Minutes Studied | Vocab words learned
time it takes. Use the table to determine the rate of 30 15
change and then interpret it for this context. 60 25

90 35

120 45

.

b.‘ Carol records the number of vocab words

memorized for her English Final and the amount of Minutes Studied | Vocab words learned
time it takes. Use thé table to determine the rate of £ (>
change and then interpret it for this context. 60 el
90 20 .
' 120 40

" (. If Tom and Carol continue studying for 30 more minutes, who will have learned more vocab words?
1 .

£x, 2 Compare the rates of chavnge"'fc;r the t—wB linear functions described below."

_Function 1: Any y-value can be found using the expression %x +2. {

‘Function 2 tx 212106 2
i | - . \

)
by | 1 1s] 2]25]3 | f

Which function has a greater rate of change, or are they the same? = .~ .
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KX =3 Compare the rates of change for the two linear functions represented below.

Function 1 ‘ Function 2 . ,

— X

The price of buying x baseball caps at Sporty’s is shown py the graph below. Thev

b(' N} advertisement shows the cost of buying the same baseball caps at Hats

y- BrandB Caps
f at Sporty’s:

30.00 \l 1

N
N
o
o

Brand B Caps :

$10 for the first capl
$6 for each cap

Cost (in dollars)
o
o
o

|
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Number of Capé
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When does it make sense to buy caps at Sporty’s? at Hats ‘R Us?
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during the race. ) :

Y .

A Justin’s Race’
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Number of Seconds

The equation y = 3x can be used to reprg/s“ent y, the total distance in meters that Cami has
run after x seconds have passed..Who is running at a faster speed? How much faster?

Now +r5 Yhese ...

The number of new movies a store receives
-can be represented by the function
m = Tw + 2, where m represents the number - !

% 1 3 |
of movies and w represents the number of
weeks. The number of games the same store é e

receives is shown in the table. 3 9

b. Compare the functions’ y-intercepts and rates of change.

¢. How many new movies and games will the store have
in Week 67 '

. 5 [

‘The function m = 140h, where m is the
miles traveled in h hours, represents.
| the speed of the first Japanese high speed

|

- train. The speed of a high speed train o1 i 217 |
operating today in China is shown in the I o 1 43 .
table. Assume the relationship between %—_’*3 E a5t i ‘:

L !

the two quantities is linear.

l

0. Whieh Han 187 h’MGImﬁ at F&SJ&; apeﬁd?
b. How for wdl you 8&+ in Shes  on erdher Hran 7

A brother and sister are racing 30 metsrs to a tree. Since Justin is younger, his sister Cami
lets him have a 6-meter head start. The graph below shows the distance that Justin runs
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g) ‘Acertain car has a gas 100y ]

mileage of 22 miles per gallon. =
' The gas mileage of a certain - 7 ‘
sport utility vehicle is g /14.76) ‘

represented by the function s

X g Vil

shown. Compare their gas £ 40 A |
mileage. SV AED -
= 20 = i
i 10 4(1,19) - i
0 13 |
123456782910 |

Gallons Used

a. N‘mc}n? car ywes  beter 3(\431%1160\ e?
b. ARk 5 galbns uged, how mMany miloy would  You
have driven 1n exther car?

H) A zebra’s main predator is a 1,000 7
lion. Lions can run at a speed 900
of 53 feet per second over e

 short distances. The graph at € 700

the right shows the spei/ac/:; ofa -E ggg (6,472 ‘

zebra. Compare their spgeds. . 3 400 e A |
T 300 = =

o Whet ares Huie  oofT) 1

T
100 2, 118)

> Y 7 q !
Spards _°-1“45673970;
. - Time (s)
b Whch anmal 13

. ? N |
C£§W1§ saconds  how Lor would each anmal 9et?

5) _ Financial Literacy Mandy and 100 :

Sarah each have a membership to 90 12.75) l
the gym. Mandy’s membershipis & ' |
represented by the function g ;g
y = 3x + 29, where x represents . -
the hours with a trainer and y 0440, 39) :

<09 il

represents the cost. The cost
of Sarah’s membership is shown
in the graph. ) :

- |
a Who pags  more Pr he with Ha Aamer?

: e Whe
b T e gels o fohs o g BAEE

i

2 4 6 8101214161820 % |
Hours with Trainer ‘
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